Teopus ynapa

K niockomy omHOpomHOMY Tesly MpHUJOXKEH YAapHbIH umny/abc S. Ha#iTu ckopocThb

TOYKH A mocJie ynapa.
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m=5Kr, a=3cM, b=a2/2,
a=m7/4, S =35 krem/c.
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m=1Kr, a =4 cmM, b:a\/§/2,
a=m7/6, S =8 krcm/c.

3agaua D-40.3.

c

f=al

st
m=2%kr,a=4cMm b=2 cwm,
c=2cmM, S =48 xrem/c.
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m=2Kr,a=5cM b=1 cm,
S =136 krecm/c.
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m=>5KI, a =05 CM, b:aﬁ/Z,
a=7/6, S =35 krem/c.
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m=1%kKr,a=4cMm b=2 cm,
S = 568 krcm/c.

3apgaua D-40.7.

m=2%kr, R=9cm, r =6 cm,
S = 468 krcm/c.
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m=4xr, a =10 cm, b = 7 cmM,
S = 1192 krem/c.
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b a/2 a/2 b

m=1%xr,a=4cMm b=2 cwm,
S = 568 krecm/c.

3agaua D-40.10.
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m=4Kr,a=5cM, b=3 cMm,
c=1cm, S =512 krem/c.
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m=1KkKr, a =2 cM, b:aﬁ/Z,
a=m7/6, S =6 krem/c.

3apaua D-40.12.
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m=2Kr,a=06cM, b=2 cMm,
S = 1072 krcem/c.

3apaua D-40.13. 4
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m=1%kr, a=12 cM, b = 6 cM,
S 1 AB, S =6 krem/c.
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m=23Kr, a=15cM, b =5 cM,
c=5.5cm, S = 1302 krem/c.

3angaua D-40.15. 4
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m=2%kr, R=5cMm, r =4 cm,
S =164 krcm/c.
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m=1kr,a=4cm b=1 cm,
S = 438 krem/c.

3apaua D-40.17. 4

m=1%kr, R=5cMm, r =4 cm,
S =82 krem/c.

3angaua D-40.18.
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m=2Kr,a=3cM b=1 cm,
S =536 krem/c.
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m=4xr, a=2cM, b=a2/2,
a=m7/3, S =12 krem/c.

3amaua D-40.20.
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m=2Kr,a=6cM b=1 cm,
c=1cm, S =68 Krem/c.

3apaua D-40.21.
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m=4%xr,a=5cM b=3 cwm,
c=1cmM, S =248 krem/c.

3apgaua D-40.22.

m=2%kr, R=7cMm, r =4 cm,
S =130 krem/c.
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m =4 Kr, a =5 cM, b:aﬁ/Z,
a=m7/5 8 =16 krem/c.

3apgaua D-40.24.
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m=>5KI,a=8cM, b=06 cMm,
S =500 krcm/c.

3agaua D-40.25.
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m=1%xr,a=8cM, b=2 cwm,
S =100 krcm/c.
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m=>5KrI, a =4 cM, b:a\/§/2,
a=m7/5,8 =30 krem/c.
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m=2%kr,a=6cM b=1 cm,
S =910 krcem/c.
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a
m=1%xr,a=10cM, b=5 cM, c = 2 cM,
S = 375 krem/c.




D-40 OTBeThI.
Teopusa ymapa

Nelvyg |ve w J
cm/c |t KT CM?
1 (7 (7.0 ]3.30 [22.50
2 |8 |8.0 [2.00 [8.00
3 124 124.0 [36.00 (2.67
4 1132 68.0 [120.00(3.78
5|7 |7.0 [1.40 [62.50
6 |624|568.0(168.00(7.89
7 190 |234.0/24.00 [117.00
8 1290(298.0(84.00 [99.33
9 |288(568.0/168.00|7.89
102721128.0 {72.00 [21.33
116 (6.0 [3.00 |2.00
12 1492 (536.0|132.00(29.78
13124 |6.0 [2.68 [15.00
14 1193 |434.0]114.00 {108.50
1512 |82.0 [20.00 [41.00
16 {384 438.0|108.006.08
17 |18 [82.0 |16.00 |20.50
18 1254 268.0(84.00 |7.44
1913 (3.0 [2.60 |8.00
20|54 |34.0 |66.00 |3.78
2110 |62.0 |36.00 |20.67
22|33 |65.0 |14.00 [65.00
2314 (4.0 (0.94 |50.00
241116 [100.0]36.00 |83.33
2512281100.048.00 |5.56
266 6.0 [1.76 |40.00
271294 |455.0|138.00|25.28
28519 |375.0|72.00 |10.42
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